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(1) 8+1=8 (2) 8+-10=0.8 (3)8+-100=0.08
(4) 8+-0.1=80 (6) 8+0.01=800 (6) 8+-0.001=8000
(7)10+-1=10 8)10=+-10=1 910+-100=0.1
(100 10+-0.1=100 (1) 10+-0.01=1000 (1221 0-+=0.001=10000
13y 25+-1=25 (1) 25+-10=2.5 (15)25+100=0.25

(16) 25+0.1=250 (17 25+0.01=2500 (18)25-+0.001=25000

(34) 4.5+-1=4.5 (35 4.5+-10=0.45 (36) 4.5+ 100=0.045

(199 3.05+1=3.05 (200 3.05+-10=0.305 (21) 3.05+-100=0.0305

(22) 3.05+0.1=30.5 (23) 3.05+0.01=305 (24) 3.05+0.001=3050

(25) 30-6=5 (26) 30+-60=0.5 (27) 30+-600=0.05
(28) 30+-0.6=50 (29) 30+ 0.06=500 (30) 30+ 0.006=5000
31) 0.1+-0.1=1 32) 0.1+-0.01=10 (33) 0.1xX 0.001=100
(37) 0.6+-0.2=3 (38) 1.5+-0.5=3 (39) 1.25+-0.5=2.5

(40) 7.2+-0.03=240
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NRE (137957
18

3.1)5 5,8.
3 1

2 4
2 4

O|0

(9) 2.9+-0.58=24
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(1) 75.24+3.42 (2) 10.85+0.31 (3) 76.61+16.3
NEEE(2)FETBT INEEE (2)FTDT INEEE (1) FRETET
35 4.7
3.4 2)75.2 4 0.31)10.8 5. 1 6.3)7 6.6.1
9 3 65 2
155 114 1
155 114 1
0 0
(4) 20.16+0.8 (5) 2.21+0.26 (6) 3.355+0.11
NEEE (1) FETET INEEE(2) 3BT INEEE(2) 3BT
2 5.2 8.5 30.5
0.8)2 0.\1.6 0.2 6)2.2 1 0.1 1)33 5.5
16 20 8 3 3
4 1 130 0
4 0 130 0
16 0 55
16 55
0 0
(7) 80.66+3.7 (8) 2.943+0.54 (9) 52+1.25
NEEE (1) 3BT INEEE (2) 3BT INEEE (2) 3BT
2 1.8 5.4 5 41.6
3.7)8 0.6.6 0.5 4)2\9 4.3 1.25)52 0 0.
7 4 270 500
6 6 2 4 3 200
37 216 125
2 96 270 750
2 96 270 750
0 0 0
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(7)6.41+-2.18
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(2) 10+2.4 (3) 3.3+0.45
N R%&E (1) FET57 N EE (2) DT
4.1 7.3
2.4)10 0. 0.4 5)3\3 0.0
96 315
4 0 150
2 4 135
0.1 6 0.01 5
(5) 0.85+-0.04 (6) 66=2.6
INBEE (2)FETBT N EE (1) FETDT
21.2 2 5 3
0.0 4)0:\8 5. 2.6)6 610,
8 52
S 140
4 130
10 100
8 7 8
0.0 0 2 0.2 2

(8) 56.2+7.6 (9) 24.5+-0.83

MRz (1)) ETsT N EE (2) DT
7.3 2 95
7.6)5 612.0 0.8 3)2 4.5 0.
53 2 166
300 790
228 747
4 1 5
0.0 15
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